N of associated (recoToSim) looper tracks vs normalized x*

N of associated (recoToSim) tracks vs normalized X?

[N of reco track vs normalized x2 ]

(%] 1%} 4] 0
x x < x -
Q Q o (5]
g g g 8
[ [} Q
2 &
2 K 8107
=
=]
o
1072
107
=] e =] ] bl
T I T T
4 o4 o o
g 0.5) B
4 10 12 14 16 18 20 0"02438101214161823 C02468101214161820
track x2 track x2 track x?
RSN STgat et rew T
| N of reco track vs. EI —— Bé li I BE¥ BTa{eeu Squarglﬁ % 5'1‘3‘6"9 ?Bﬂar-ghasel newgeom
2 L L2
R o S
10°Brnerrrnsnrennssrren pnyy f'gj103'::::::::::::::::::::::::::::: %
=] =]
T T
4 o




	Contents
	Page 1


